X2
H 2 & 8
1. 33
: 20223 SOLID =8t 108 p52~53
2. HY L
BE 20 ¥ BHE 22X 20| +=F
3. &M UiE
== 33 & 338 =
(=h) (=
p52 || b FHzAge] Ag= 10l b #zAge] Ag= 101
e £'(0)=10]x}. £(0)=f'(0) =10k
2 WH A y=ao+t7F T4 y=f(x)ol W A y=z+t7F FA y= f(x)el
e s A5 19 ghe AoEs sk A o] ghe
t, 01 t,—t, =40} ty, 0L t, —t, = 40]t}h

(S HOIXIO LR H=)




p53
LE
=A|

Z0|

g (z)=f"(z)—1°]B&
g0)=f0)-1=0
(%)

(i) [2¥ 119 A%
((1)¢] 3h=k 43))
fl@)—z—f0)=g(x)—z
=2%(z—3)
olm g
f@)=2*(@—3)+z+f(0)
f2)=4ax(=1)+2+£(0)
=f(0)-2
(i) [25 2]¢] 4%
((ii)e] st 43))
fl@)—z—f0)=g(x)—z
:xQ(x+3)
o]p&
f(x):xQ(x+3)+x+f(0)
f2)=4x5+2+£(0)
= f(0)+22

(1), (ii)ell 23teq

M
M—m =24

F(0)+22, m=f(0)—20]2%

(i) [2¥ 1]¢] A%
((1)9] 3l 43))
fl@z)—z—1=2*(xz—3)
ol
fl@)=2*(@x—3)+z+1
f@2)=4x(—1)+2+1
=—1
(i1) [2¥ 2] A%
((ii)e] shet 43))
fl@)—z—1=2*(z+3)
ol
fl@)=2*(x+3)+z+1
F@)=4x5+2+1
=23
(1), (ii)ell 2J3}e]
M=23, m=—1°|B%
M—m=24




